HERAZ / Components
No. 2 / Part name M= / Pcs #'E / Material - RmUE / Color+Finish
1 — 1 7 L3R A1050P t=2.0 EANEE
Mounting plate Aluminium A1050P t=2.0 Unfinished
2 BEE€E 6 #fl#k SECC t=1.6 ora—k21
Mounting bracket Steel SECC t=1.6 Zinc coated
3 wFvk 6 ##R SPCC t=1.6 =lonA—k
M3 nut Steel SPCC t=1.6 Trivalent chromate
4 FybRILE — 6 POM T390
Nut holder Black
5 BAHE R(M3 x 6 FN) 12 &% =ffoairA—k
Screw (M3 - 6 Pan head) Steel Trivalent chromate
NS
.4
H{st A% / How to fix
H{TE X / Screw
2
W79 =h)LT—4 / Technical Datall
¥4 —XR / Suitable : FC[O-40-25
FCW[1-25-40
FCHO-40-25
KFC4L)—XITIXFEAWEZITEE A,
. Not suitable for FC4 (H=37.9 )
H{FE R / Screw ] ot suitable for mm
@ F kL —JL / Groove for slide nut . f i/ Title
TAKACHI) #X&ttahFERTE FC+FOW-FCHERS v— @ |:]
EE £ E / Mounting bracket WY RUFYRRILA— = TAKAC?l £ orone ENCL:‘?URE o - MOUNTING PLATE for FCFEW.FCH REE/Scale
Nut & Nut holder & 8/ Approved 1% [Xl/Checked #IX]/Created B F /Product number
FCC40-25-1
iR X ® 1/ 3
{ERL B /Date 2020/01/06




<%—<, / Mounting plate

A®~TE / Max dim.

EE £ B / Mounting bracket

354 2 154.5 154.5
6-@5
1) I ¢ o o o
< o )
(=] [se) ~
Y 2 =
o) o o o [6) o
169.5 169.5 4-R2
339
4 /Title
TAKACHI) #X&ttahFERTE FC+FOW-FCHERS v— @ |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. MOUNTING PLATE for FC,FCW,FCH
& 8/ Approved & X]/Checked #IX]/Created B F /Product number RIE/Scale
FCC40-25-1 13
iR s A ) ) 3
YERL B /Date 2020/01/06




EE £ E / Mounting bracket

M3

1.5

1.6

315
—
')
(&,
[
22
27

-

4.5

12

1.6

11.8

1.6

15

75

IRON!

o

@4

2-R1

FwkRJLA— / Nut holder

10

Qs

6.5

3.6

o b

]RF vk / M3 nut

M3

1.6

 m——

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fna/Title
FC-FCW-FCHE AL v—
MOUNTING PLATE for FC,FCW,FCH

o]

7 &2 /Approved

iR

18X /Checked #I X /Created

ES il

FIE /Product number RE/Scale
FCC40-25-1 1:1
fERH/Date  2020/01/06 3 /3




